32.

5
a  r>0,-21<0<0 (4,-7:'-)

b r<0,0<6<2n (—4,—743) ’

e r>0,2n<8<4n (4,1—?)

N

I

40, x= rcos0=4cos-?%‘-=4~0=0
.. 3n )
y =rsin9=4sm—2—=4'(“1) =—4

. 3n
Rectangular coordinates of the point (4, 7] are

(0.-4).
S
60. The point (-3, 3) lies in quadrant JI.
reP 4y = O 45 =33
B:m“(ﬁ}:m‘l 3 ) e tntp=_=
5T G et en=-3
- Polar coordinates of the point (-3, 3) are
4
o e e S B
68, XF+y’=x 76. r=sing+1

r*=rcosd rt=rsind+r

r=cos
¢ x2+y2=y+m

5.2

T =2
The equation is of the form r=a, a>0. Itisa
circle, center at the pole and radius 2. Transform
to rectangular form: .
r=2 B
=4

P+yt =4

e

18. rcos@=4

The.cqua.tion is of the form rcos@=gq. It isa
vertical line, 4 units to the right of the pole.
Transform to rectangular form; '

reos@=4

I
26. rescf=8 .
The equation is a circle, passing through the
1 .
pole, center on the line 6= 3 and radius 4.
Transform to rectangular form:
rescf=8
1
=38
"$n6
r=8siné

r?> =8rsin@ .
[ — —
x2+y2=8y
P +y*-8y=0
(-4 =16
center (0, 4); radius 4
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